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For this lesson, you might want to get
gourselJc some counters or small objects.

_mmaﬂ o

=

If you haven't got any, you could make
some out of paper.
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Drawing Picture Graphs R

| In Focus

Emma uses a tally chart to show the number of fruits in the baskets.
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How else can she show the number of each type of fruit?
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Lesson

Drawing Picture Graphs 1

&

B Emma uses a tally chart to show the number of fruits in the baskets.

+Hit 1]
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5 orange
4
pear
9 strawberry
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How else can she show the number of each type of fruit?
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I used one counter
to represent each
item on the tallg

chart.
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Drawing Picture Graphs S

5
In Focus

Emma uses a tally chart to show the number of fruits in the baskets.
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How else can she show the number of each type of fruit?
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92 Let's Learn

5

Emma uses a table.

¢ ©
9 oranges pears strawberries
8 48 number of fruits 8 6 10
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of each item in a table.

You could count the items and write the number

5

140043 975

P,
0

51114753, ? A




6

32
6 5 o She also uses a picture graph or a pictogram.

448 Number of Fruits in the Baskets
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52 You could also create a horizontal picture graph.
71¢ You draw pictures to represent each item.
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| Example 2

Each . stands for 1 fruit. Key
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I could use 4

6 counters to
B e represent the
45 oranges.
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5 Is this possible?

2
711 How would that work if there were 8 oranges?
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I could use 4

counters to

represent the
oranges.

If 4 counters are used to represent the oranges,
how many counters should be used for the
pears and strawberries? Can this be presented
in a graph?
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Number of Fruits in the Baskets
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Have a go at representing this is a graph like
| this one. The pictures are vertical this time.
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) Example 3
E ° She draws a different picture graph.
3 Number of Fruits in the Baskets
6 5
T " :
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1 = a a
g 4 I orcgge pear strov:erry
3 Each . stands for 2 fruits. Key

Notice how each picture this time stands for 2

7%‘ fruits, not 1. We call this the key. It is important to

5 always look at the key when we interpret graphs.
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g Guided Practice
6 The graph shows the number of pupils who joined the football club.
B . Number of Pupils in Football Club
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8 4 class 3A class 3B class 3C class 3D
g Each . stands for 1 pupil. Key
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|Use this data to complete the following...
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f pupils who joined the football club.

number of pi
Number of Football
ee | o - -
00 2 ® e
e o e e
es | 20 | o0 | oo
class 34 class 38 class 3C class 3D
ich @ stands 1 pupil. Key

class

number of pupils in football club

3A

3B

3C

3D

00

Watch video clip "Explanation 1"
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hmhuu; e Watch video clip 3

6 2 o o o)
I IENENED "Explanation 2"
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(b) Draw another picture graph to show the number of pupils in each class
5 who joined the football club.

Number of Pupils in Feotball Club

591 3A
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52 3D
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Each . stands for 2 pupils. Key
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Complete the
'worksheets.
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(b)

Draw another picture graph to show the same number of each type
of fish in an aquarium.

Number of Fish in an Aquarium

)
goldfish guppy angelfish swordtail
Each /\ stands for 2 fish. Key
(c) The largest groupis |:|
4

(d) The smallest group is |:

Wo r k sheet 1
Drawing Picture Graphs
( °The picture graph shows the number of each type of fish in an aquarium.
) Number of Each Type of Fish in an Aquarium
1
of
goldfish guppy angelfish swordtail
9
o Each & W& stands for 1 fish. Ke y
(@) Look at the picture graph and complete the table below.
| type of fish number of fish
goldfish
guppy
angelfish
swordtail
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—1I/Complete the 2

0 'worksheets. 2
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(b)

Draw another picture graph to show the same number of pupils in

each team.

Number of Pupils in Each Team

e

Alpha

Bravo Charlie Delta

Each 'i_) stands for I:I pupils. Key

(€) There are as many pupils in team :l as there are in

I\';Iake u ;ozr own number for gour-key here.
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Think carefully about what timestable you could

oThe table below shows the number of pupils in each team during a game.

team number of pupils

Alpha 8
( Bravo 10
g

Charlie &
i Delta 10
L

(@) Draw a picture graph to show the information given in the table.
Number of Pupils in Each Team
9
L
Alpha Bravo Charlie Delta 4
use.

Each | stands for 1 pupil. "'fs - — Y =
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